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PART -1 |
o - (Bio-Statistics) - o
1. Choose the correct Options among the foﬂc;vzysnfs-:

(a) You are asked iO estlmate number of oranges
from an orange orchard. What will be your
sampling unit for the survey ?

(i) A quadrat
(i) Each branch of the tree
(iii) Each tree

(iv) All of the aboye
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P o (ii) There is moderate positive correlation
. engths of five leaves of | . - " between height and p((})ls;H o

(b) Following are the |
Terminalia arjyng ,
" 14.00m 13.1cm, Fin-l::hcm, 125em, 11.7em, | _ S
¢ Median. , (iif) There is -strong positive correlation
@ 152em Gy 1390m | - ‘between height and GBH. - -
(@) 13.dem Gy 13';0011'1 S , | (iv) There is negative pdsitive correlation
¢) Followin L T ' ~ between height and GBH.
© five indifi::e;lsth:f?ehzsutemgnts of GBH of . o L | B ¢
20.7cm, 18.2cm',' 3 rea robusta : 23.5cm, 2. Answer in brief ' o following
Range. ' ' O'Im 25.6cm. Find the questions : " apy three Qf th' 5x3=15
@ 123em () N9en - R 'Inanexpeﬁmgm, three chili plants had been
(i) 132em - Gy pso . planted with different treatments. The
‘ Sem o ' following yields as number of fruits Were
(d) Following are tyq , recorded : control (25). cow dung manure
Tamarind lew%z.;n;;nbz? of leaflets of - (75) and chemical fe(l‘til)i;er“;SO)- Find if there
28, 26. Find the Mod; > <0, 24, 24, 22, 24, | | ‘was significant yield of chili among the three
o SR o ' ’ treatments. ' 5
@ 23 (i) 94 - _
OF  ®u @ Diteaias beven pamic 50t
- (iv) 26 ' - _ parametric test. - - 5

(iii) Diﬁ’erentiéte between Standard deviation and
Standard error with syjtable illustrations and
formulae. ' 5

© oAfr(efsoer:::ti::s bi::n d th’s Coefficient
v “vtWeen height and GBH of

tree speci

.;nf sces l::;scg,gi V;’hich of the following |
eren -COrrect , - ' o ‘

D) There is o o ' (iv) Write short notes on ‘Kurtosis’ and “Skewness

® i8 Perfect positive correlation with suitable diagrams, 3

between height ang GRH.
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3. Answer the following questions:  -2x10=20
(a) What is Normal Distribution Curve ? Bxplam
; 1ts propertles thh smtable diagrams.

(b) The followmg are the lengths and widths of
Colocasia esculenta. Test if there exists any
significant relatlonshlp between -these two

,varlables ' , 10
Tength (cm): [13.7 [ 18.7 [15.8 | 13.8]147
width (cm): |72 10254 | 7.0 73

[Length (cm): |17.6 [ 144 [15.4 [ 193 18.3.

. o

Width (cm): | 9.1 [ 81 |86 | 5.1 |10

| PART - I

1. Choose the -COITECt options amop ng the following
(All compulsory): . 1x5=5§

(a) SWISS-PROT protein sequence database
-began in the year of

() 1988 (i) 1985
(i) 1986 (iv) 1987
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2+8=10

(®) In Computer science and Informatlon

©

technology (IT), DNS is an z':lbmelatlon °f S
(1) Direct Name System

(i) Domain Name System |
(iii) Direct Name Software

(iv) Domain Name Soﬁware .
A computer program that translates on¢ -

- Statement of program jnstructions at a time:

(d)

()
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into machine language is called -
(i) CpPU " (ii) Interpreter
(iii) Compiler (iv) simulatdr

Submission of Gene Bank are made using -

‘(i) Banklt and Sequin

(ii) Banklt and Bankin
(iii) Sequin and Bankln
(iv) Entrez |
The identification of drug through genomic .
study‘is called ~

(i) Genomics

(i) Cheminformatics
(iii) Pharmacogenetics
(iv) Phamm.genomics,’

" [Turn over



2. Answer the following short qhestions: Aun are. 4 Ancon . T o
. compulsory) o g - Answer two of the following questions ;x2'=~12. C
() What is D§m mmmg ? | (@ What js neighbor-joining methods ? HOW 1;
. e o . 1 is us . . . . tree
(b) Write the name of any two Protein database. : eful in Constructing phylogene“°3+3=6 .
. . (b) Illustrate global alignment with »_suit:'lble '
| - | (©) Explain ‘the various -s'teps .of molecqlzf
3. Answer any three of the following questjops - - ~ docking, *
L - | . 5x3=15 ‘
(a) Differentiate between Windows and I jnyy.
operating system.,

(c) What is e-value of alignmen soope 9

(b) Discuss tany one algorithm for sequence
alignment.

© How ribosome coylq be used as drug target ?
Give examples of drugs acting op ribosome.

- (d) Discuss the role of biologica] database in
. understanding  the. life 54 solving the
biological questions with special reference to
nucleotide sequence databages,

(e) Write the. SCOpe  apg
- bioinformatics,

application of

18
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